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QUESTION 1

Which statements describe asynchronous messages within an SAP NetWeaver Process Integration dual stack?
(Choose two)

A. They are queued for processing by the Integration Engine.

B. They are processed in a different pipeline from synchronous messages.

C. They cannot be cancelled.

D. They are not persisted on the Integration Server unless logging is switched on.

E. They are persisted on the Integration Server and can be re-sent from this location in case of problems.

Correct Answer: AE

QUESTION 2

Which of the following describes a consumer proxy?

A. A consumer proxy is a language-specific implementation of an outbound service interface.
B. A consumer proxy is a Java class used in the Advanced Adapter Engine.

C. A consumer proxy is an ABAP program used in ALE distribution.

D. A consumer proxy is a language-specific implementation of an inbound service interface.

Correct Answer: A

QUESTION 3

Which of the following configuration objects can you use to activate XML validation of a message payload in SAP
NetWeaver Process Integration? (Choose three)

A. Integrated configuration
B. Interface determination
C. Receiver agreement

D. Receiver determination
E. Sender agreement

Correct Answer: ACE

QUESTION 4
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You have selected the delivery mode Without Buffering for your integration process.

What do you have to consider in order to avoid the process type-specific queue going into a SYSFAIL state?

A. You have to use configurable parameters in order to specify the queue name.

B. You have to enable correlation for the integration process.

C. The process instance cannot use correlations to collect messages from different communication components.

D. The process instance must provide an open receive step when the message is handed over to the Business Process
Engine.

Correct Answer: D

QUESTION 5

Which of the following are characteristics of enterprise services? (Choose two)
A. They are based on global data types.

B. They are semantically harmonized across applications.

C. They can be easily used as imported archive objects.

D. They can be used to extend BAPIs.

Correct Answer:. AB
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